PR Received 9-15 March 2015

Offices Supplies & Consumble Parts

Post Dated 16 March 15

Serial | PR No. Doclz;l:::nt Item Code PR Line Description PR Qty Unit Buyer B:iytzl' EMAIL ADDRESS PR Status RF%;I:;ng
1 11501684 | 9-Mar-2015 | CONZZ09601 DISTILLED WATER 1 GAL = 20 LTS 6.00( GALLON MRS. ANCHALEE PIKKANESUAN BSP Anchalee) @ssi-steel.com INCOMPLETE 23-Mar-15
2 11501685 | 9-Mar-2015 | CONZZ18703 LIQUID OXYGEN IND BULK 8,096.00 ;::;iecs MRS. ANCHALEE PIKKANESUAN BSP Anchalee) @ssi-steel.com INCOMPLETE 23-Mar-15
3 11501757 | 12-Mar-2015 | CONAZ28188 NORD-LOCK NL30 FOR BOLT M30 100.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
4 11501693 | 10-Mar-2015 | CONZZ04934 BOLT HEX.HEAD(CLASS 8.8) M16-2x65 mm. 50.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
5 11501692 | 10-Mar-2015 [ CONZZ05811 NUT HEX.HEAD (CLASS 8.8) M16-2 300.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
6 11501775 | 12-Mar-2015 | CONZZ06762 BOLT&NUT HEX.HEAD M6-1x20 mm.(CLASS 8.8) 80.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
7 11501775 | 12-Mar-2015 | CONZZ06770 BOLT&NUT HEX.HEAD M8-1.25x30 mm.(CLASS 8.8) 10.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
8 11501776 | 12-Mar-2015 | CONZZ08015 BOLT HEX.HEAD(CLASS 8.8) M20-2.5x80 mm. 150.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
9 11501776 | 12-Mar-2015 | CONZZ08039 BOLT HEX.HEAD(CLASS 8.8) M30-3.5x100 mm. 39.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
10 11501719 | 10-Mar-2015 | CONZZ08086 SOCKET HEAD CAP SCREW  M8-1.25x40 mm.#CLASS 8.8 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
11 11501715 | 10-Mar-2015 | CONZZ13292 SOCKET HEAD CAP SCREW  M24-3.0x65 mm(CLASS 8.8) 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
12 11501716 | 10-Mar-2015 | CONZZ14543 BOLT FLANGE HEAD(HEX.) & NUT NYLON INSERT M12-1.25x40 mm. 210.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
13 11501766 | 12-Mar-2015 | CONZZ18223 GRINDING WHEEL TYPE 7 FOR G1-4 DIA.915x152x508 mm. 6.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
14 11501758 | 12-Mar-2015 | CONZZ21000 STUD BOLT&NUT M33_3'5XC4L7AOSMS§'IJSREAD S0MM_ (BOTH SIDE) 32.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
15 11501759 | 12-Mar-2015 | CONZZ21800 LOW HEAD SOCKET CAP SCREW M8x1.25x20 MM (HOT DIP.GALV.) 75.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
16 11501715 | 10-Mar-2015 | CONZZ21972 SOCKET HEAD CAP SCREW  M6x1.0x35MM(STAINLESS) 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
17 11501789 | 12-Mar-2015 | CONZZ28879 SPRING WASHER DIA.40 mm. 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
18 11501766 | 12-Mar-2015 | CONZZ29192 GRINDING WHEEL TYPE 1 FOR G5-6 DIA.915x152x304.8 mm. 3.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
19 11501718 | 10-Mar-2015 | CONZZ31586 NUT HEX.HEAD M50-3 CLASS 8.8 F(p)/|RD|éggCK HUB COUPLING DC MOTOR TYPE 2.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
20 11501717 | 10-Mar-2015 [ CONZZ31591 NuT HEX.HEAI%CI)VIUG:I:IlegLQSSM%?O(xV_{’EY);E P}I(I;?MMDI\?I'QIFZOR LOCK HUB 2.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 23-Mar-15
21 11501732 | 10-Mar-2015 | CONZZ05808 CABLE SIZE 3x1.5 SQMM. TYPE VCT 100.00( Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
22 11501732 | 10-Mar-2015 | CONZZ08602 CABLE SIZE 3x2.5 SQMM. TYPE VCT 100.00( Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
23 11501606 | 9-Mar-2015 | CONZZ25430 aadaunaund(VIBRATION) SIZE 5/8" 3.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
24 11501606 | 9-Mar-2015 | CONZZ26983 wadaunaund(VIBRATION) SIZE 1-1/8" 3.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
25 11501606 | 9-Mar-2015 | CONZZ26986 aiadaunaund(VIBRATION) SIZE 7/8" 3.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
26 11501606 | 9-Mar-2015 | CONZZ27832 aadaunasund(VIBRATION) SIZE 1/2" 3.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
27 11501606 | 9-Mar-2015 | CONZZ27833 aagaunasuna(VIBRATION) SIZE 6/8 3.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15

Page 1 of 3




PR Received 9-15 March 2015

Offices Supplies & Consumble Parts

Post Dated 16 March 15

Serial | PR No. Do‘;':::nt Item Code PR Line Description PR Qty Unit Buyer B:iytzl' EMAIL ADDRESS PR Status RF%;I:;ng
28 11501606 | 9-Mar-2015 | CONZZ27834 aiadaunauay(VIBRATION) SIZE 1 3/8" 3.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 23-Mar-15
29 11501769 | 12-Mar-2015 | CONZZ29145 RT-95 P.P.SEAL [/S MAT : POLYPROPYLENE 4.00( PIECES MISS JARIYAPORN JANTHAWEE BSP jariyapornja@ssi-steel.com INCOMPLETE 23-Mar-15
30 11501756 | 12-Mar-2015 | CONZZ06433 ENAMEL PAINT GRAY BENTON#314/NATIONAL#504 (3.500 LT.) 12.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 23-Mar-15
31 11501602 | 9-Mar-2015 | CONZZ13663 CLEAR PLASTIC PLATE 1200x2400x5 MM 1.00| PIECES MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 23-Mar-15
32 11501690 | 10-Mar-2015 | CONZZ15514 PAPER GASKET THICKNESS 2.0 mm. 18.00 Feet MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 23-Mar-15
33 11501792 | 12-Mar-2015 | CONZZ01954 FILTER OIL TRANSMISSION PSS»O:?iizg)NALDSON) OR (FLEETGUARD P/N 6.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
34 11501770 | 12-Mar-2015 | CONZZ11333 ENGINE OIL FILTER P/N 2466634 (DO3I\;ALDSON P55-3191) (VOLVO 466634- 12.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
35 11501731 | 10-Mar-2015 | CONZZ11334 FUEL FILTER P/N.21492771 (OLD P/N.3825133 (21466987)) 10.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
36 11501772 | 12-Mar-2015 | CONZZ11335 ENGINE OIL FILTER BY PASS P/N 477556 (VOLVO) DONALDSON P550425 11.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
37 11501774 | 12-Mar-2015 | CONZZ14636 THERMOSTATIC EXPANSION VALVE P/N 2G0401 1.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
38 11501729 | 10-Mar-2015 | CONZZ18154 FLASHER RELAY ELECTRONIC 24V-130 C/M 2.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
39 11501771 | 12-Mar-2015 | CONZZ20680 MIRROR P/N 2664.905003 4.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
40 11501730 | 10-Mar-2015 | CONZZ28523 BATTERY POLE (-) 10.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
41 11501791 | 12-Mar-2015 | CONZZ28586 LOCK WASHER 7/16" P/N 3B4507 40.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
42 11501773 | 12-Mar-2015 | CONZZ29980 ELEMENT SUB-ASSY.OIL FILTER P/N 1502-20 (15601-76009-71) 1.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 23-Mar-15
43 11501783 | 12-Mar-2015 | CONZZ05925 OXYGEN PURITY 99.5% 58.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
44 11501760 | 12-Mar-2015 | CONZZ28459 LEATHER GLOVE LENGHT 12" 600.00 PAIR MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
45 11501722 | 10-Mar-2015 | CONZZ31156 aoflafihauuumun @ wmsuou PACKING &um dwiin 600 niusa 1Tua 840.00 PAIR MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
46 11501607 | 12-Mar-2015 | STA1000188 wuuvasu"tuwdesanns douaovhinanldluiseau 50.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
47 11501607 | 12-Mar-2015 [ STA1000189 wuuvasu"luayanfinds  wasaanuanuiin® 50.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
48 11501487 | 10-Mar-2015 | STA1000215 FORMAT HOT FINISHING LINECOILS INSPECTION REPORT 100.00f BOOK MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
49 11501487 | 10-Mar-2015 | STA1000419 FORMAT HOT STRIP MILL INSPECTION REPORT 100.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
50 11501699 | 10-Mar-2015 [ STA2000004 NAME CARD Wi wuy 2 & 100.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
51 11501696 | 10-Mar-2015 | STA4006685 wiuafisde wsomlasa audla SAFETY GASSES 100.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 23-Mar-15
52 11501697 | 12-Mar-2015 | CONZZ06691 CARBON STEEL PIPE #SMLS DIA.2 1/2"SCH40 x L.6 mt. 5.00| PIECES MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 23-Mar-15
53 11501697 | 12-Mar-2015 | CONZZ06693 CARBON STEEL PIPE #SMLS DIA.3 1/2"SCH40 x L.6 mt. 5.00| PIECES MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 23-Mar-15
54 11501678 | 9-Mar-2015 | CONZZ07508 RELIEF VALVE 1/8" NPT TYPE 1112000 (DROPSA) 1.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 23-Mar-15

Page 2 of 3




PR Received 9-15 March 2015

Offices Supplies & Consumble Parts

Post Dated 16 March 15

Serial | PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status REQCIcIng
Date site Dated

55 11501697 | 12-Mar-2015 | CONZZ11316 CARBON STEEL PIPE #SMLS DIA.6"SCH160 x L.6 mt. 5.00| PIECES MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 23-Mar-15

56 11501697 | 12-Mar-2015 | CONZZ14558 CARBON STEEL PIPE #SMLS DIA.5"SCH160 x L.6 mt. 5.00| PIECES MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 23-Mar-15

Page 3 of 3




